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For those who stand outside — PI2 2T JNIND

OVERVIEW

The X732 rejected s'%27 inferred proof (that 31"127p X?1 WK is MOR), since all we
can infer from the statement of >19 J2 1'wnWw ' is that there is no 72°vx but there is an
Mo°R, only for those that are outside and for them it is 7w»aX, however for those who
are inside and it is MWaR K7 perhaps it is permitted. MdoIN qualifies the MoK even
for those who are y12 D70,
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The only 9993 (for the Y2 o7mw) is that they should not come closer to the

7ty in order to smell the aroma better, but there is no 110X even for the 172 ™AW to
smell the n7vpPn 177 from wherever they are standing. Moo proves his point -
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For the X723 states; it was not necessary for a bride to perfume herself, on

account of the aroma from the nap.

SUMMARY
The 70X (for the yma o) is to make an effort to derive the benefit (as in
coming closer), but otherwise the benefit is not prohibited.

THINKING IT OVER
If not for the ruling of Mmoo what would be the option; would people not be
allowed to live in 2°2217° because they are receiving benefit from the nmwp?!

! m90In mentions 7, because his proof (shortly) is from 1>, but this rule applies to %% 7y as well (see X"wmn
¥ DR A"MT IRA).

2 In this case (even) ™8 would admit that it is 1OX since it is P13"»p1 oK, for they have the option of not coming
closer, however in their place it is considered Twax 87 which is permitted even though it is 12™.

3 The actual quote is; NV M LYWPNA? 727X 4K T°HWIAW 722 NP MR aWanT? MO™ME 1R 1PPaw vl

4 See X"wnn that even according to the X3 shortly that 100 A%yw NXY there is no 72°Yn (since IM¥A NPWYI),
nevertheless there would still be an T0°R (in a case where %Y 1277°).

3 It is evident that there is no MoX from deriving a 1™ benefit from w7p7, since no special effort is made to achieve
that benefit.
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